= B - k- R

X — Hh — avy CAT
it = D31PX-21 D3K2
eSS (kg) 7,610 8,775
HthE (kPa) [kgf/cm?] 28.4[0.29] 31[0.32]
AEER 3,975 4255
B £18 (%) 2,250 2,360
(=5 2,720 2,795
Rk D #itiR 2,185 2,250
(mm) : :
E B0 IERE 1,650 1,725
F EH1E 600 635
G &Kt b= 385 315
H JL—Rig (mm) 2,875 3,150
JL—RE (mm) 790 860
JU—REE |JRALERE TBRE (mm) 920/315 730/575
KFILLE (mm) 395 440
M7 VIIVAEE () 25 24
ETIEREE B 1538 238 3R 3.4/5.6/8.5 0~9.0 (EEZR)
(km/h) BWE1E 2E 3E 4.1/6.5/8.5 0~10.0 (FEERME)
=/\EEEHE R (m) 1.8 —
£ SAA4D102E-2-B CatC4.4
IIY HH=x=E (L) 3.92 4.4
AR (kW [PSYmin™) 56 [76]/2,000 64 [87]/2,200
BRI B Bl
MRy OBE (L) 165 195
REKIVIOBE (L) — 19




